W T AR (BEE) CEk 3041 A)

(1) IMAFEZDRI

PRk 30 4F 1 HROMAZE T 3,885 1 3 T A (RIAMER AL 2.4%) TH Y | PIRBREEIT
2,317 5 9 TN (RIBT4ERI A L 3.6%) L7e->TWET, £7-. #k®BERHIL 1,567 54 T A ([
0.7%) ThHhH ., $KERIT0.676 L7725 TNET,

WARRE D 5 B (EEMkGIRRE$RX 26 1 1 T A ([FA4.2%) THHRBRE KD 1.1% & 72
STWVWET,

o B RO

23,500

23, 000 ‘/"__4_.{‘—‘-"_"—‘

22,500

22 000 M
21, 500 W

21, 000

N —(
waw

20,500 ——

_‘/‘___‘——+—i——*—'+++++ﬂ
20, 000

4 5H 6H 7H 8 H 9H 104 114 124 1A 2H 3AH
A RIS == ERR2GIE S N TR~ RIS — P R204

Rk 80 4E 1 H R OAE eI H 460 E-141% 287,205 M (A 1.0%) & 72> TWE,

(T-H) X2 SEFEYEREN A HOHER

288

- /-\_'—‘—0——0

284 // \.\'\I R —

4 j‘_
/ /*H—‘—._A

44 54 6A TH  8A  9A 108 11A 12A 1A 27 3A
A PRI e P26 S e PR TR S e P28 S = P 204F [



(2) R ORI
Wk 30 4 1 H ORGSR X 4,913 (B GHRTERI AL 6.7%) ThH V., 256, EEGHEIX
4,563 (EM ([F16.9%). ZOMOBLER1X 351 M (Al 4.8%) 7> TWET,

(1) X3 PRERFG{TE OHER
5,500
5,000 M p
4,500 ~ “—rr A-A ¥
—
4,000 A — — A o
3,500

44  5H 6A 7TH 8A 9A 104 11A 12A 1A 2A  3AH
ARG P R2EHE [ R PR TR P28 o 294 S

(3)  [EHEE DR

WoRk 80 4E 1 H OANIAE 1 N47- 0 ERREIT 14,839 M GHAT4ER A b 4.6%) &72->TERY, 9
B ABEA 4,095 1 ([F] 8.0%) . ABesh GAFG & ETe, ATRIC,) 289,122 1 ([F 5.9%) &
Tp o TWET,

IMAE 1 N7 EREZ BRI L CTHDE AT, %% 7.88 ([ 1.9%), 1
Y720 HEY 10.08 ([AIA1.4%) . 1 HY47- 0 =% 51,651 1 (A 2.6%) L72->TEBH, A
BEshCld, RN 543.79 (A1 4.9%) . 114720 BN 1.39 (FA0.4%). 1 HH7= b EEE
723 12,051 M (A 1.4%) E72>TWET,

(1) X4 INAFE 1 NET72 Y ERE OHERS

17,000

16, 000

15, 000

14, 000

13, 000
N

12, 000

48  5H 6A TH 84 94 108 1A 128 1A 2A  3A
ARG P26 [ R P2 TR P28 o 294 S

(E1)  AERERBRIES 3 5% 2 BRI ISR D DT B EN TR,
(E2) ERFE, E2RRSREMSLEeFAS (AB, AR, @R, JAl, 95k, SMFEERD L) Tho.



